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Section - I (English)

Q.No: 1 Arrange the following jumbled sentence into a coherent order:

A. Stream

B. A

C. Is

D. Over

E.There

F. Bridge

G. The

B-F-C-E-A-D-G

D-G-F-B-E-A-C

B-A-F-C-D-B-E

E-C-B-F-D-G-A

Not Answered

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based
on what is said in the paragraph

The Impact of Social Media on Mental Health

The widespread use of social media has raised concerns about its impact on mental health. Excessive use can lead to
feelings of inadequacy, anxiety, and social isolation, particularly among young users. The constant comparison with others
and the curated nature of online content contribute to unrealistic standards and expectations. It is essential for individuals
to use social media mindfully and be aware of its potential effects on mental well-being.

What is the focus of the paragraph?

Benefits of Social media

Mental health

Excessive use

Young users

Not Answered

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based
on what is said in the paragraph

The Impact of Social Media on Mental Health

The widespread use of social media has raised concerns about its impact on mental health. Excessive use can lead to
feelings of inadequacy, anxiety, and social isolation, particularly among young users. The constant comparison with others
and the curated nature of online content contribute to unrealistic standards and expectations. It is essential for individuals
to use social media mindfully and be aware of its potential effects on mental well-being.

What feelings are mentioned as potential consequences of excessive social media use?

Joy and contentment

Inadequacy and anxiety

Satisfaction and happiness

Gratitude and fulfilment

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based
on what is said in the paragraph

The Impact of Social Media on Mental Health

The widespread use of social media has raised concerns about its impact on mental health. Excessive use can lead to
feelings of inadequacy, anxiety, and social isolation, particularly among young users. The constant comparison with others
and the curated nature of online content contribute to unrealistic standards and expectations. It is essential for individuals
to use social media mindfully and be aware of its potential effects on mental well-being.

What contributes to unrealistic standards, according to the paragraph?

Excessive Social media use

Constant comparison

Mindful use of social media

Awareness of potential effects

Not Answered

Q.No: 5 Choose the correct question tag from the four options given, which completes the sentence logically and grammatically:
You haven't finished your homework yet, ________?

did you

had you

hadn't you

have you

Not Answered

Q.No: 6 What does the word "venerate" mean?

Respect

Despise

Disregard

Ignore

Not Answered

Q.No: 7 Which sentence is punctuated correctly?

The movie was great we enjoyed it.

The movie was great, we enjoyed it

The movie, was great; we enjoyed it.

The movie was great; we enjoyed it.

Q.No: 8 Identify the singular form of the noun "glasses":

Glassie

Gliss

Glass

Glassed

Q.No: 9 Choose the option that best represents the antonym of the underlined word in the sentence.
The musician's melodic tunes soothed the troubled hearts of the listeners.

uninspired

discordant

monotonous

lively

Not Answered

Q.No: 10 Choose the correct article in English grammar, which completes the sentence:
Honest men speak _____ truth.

a

an

the

No Article Required

Not Answered

Q.No: 11 Fill in the blank with the correctly spelled word:
The ___________ around the lake tempted him to go there.

Serenitty

Serenity

Serenety

Sereneity

Not Answered

Q.No: 12 Choose the correct opposite word of "believe" with prefix:

Unbelieve

Disbelieve

Inbelieve

Imbelieve

Q.No: 13 Which sentence is in the simple past tense?

He dances every weekend.

They got home very late last night.

We have been waiting for the bus.

They are waiting for you.

Q.No: 14 Choose the correct option that completes the sentence logically and grammatically:
I have never seen _______ an amazing sunset.

too

such

very

so

Q.No: 15 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the
one which best expresses the same sentence in Passive voice.

I play football with my friends at that ground.

I have played football with friends of mine at that ground.

Playing of football has been done by me and my friends.

Football is played by me with my friends at that ground.

By that ground I have played football with my friends.

Q.No: 16 Choose the correct part of speech for the underlined word in the sentence.
The director explained the complex concept with clarity.

Adjective

Noun

Verb

Adverb

Not Answered

Q.No: 17 Which of the following Punctuation mark is used to convey proportions?

Semicolon

Hyphen

Period

Colon

Not Answered

Q.No: 18 Fill in the blank with correct option.

I am worried_____ my father’s health.

on

to

at

about

Q.No: 19 Choose the correct part of speech for the underlined word in the sentence.
The mountain is covered with snow.

Noun

Verb

Adjective

Adverb

Q.No: 20 Choose the option to correctly complete the sentence in the present tense:
They usually ______ lunch at noon.

ate

eat

eating

eats

Not Answered

Q.No: 21 What is the Synonym for "Alleviate"?

intensify

relieve

worsen

increase

Not Answered

Q.No: 22 What is the word for "A person who studies the mind and behavior?"

Environmentalist

Paediatrician

Psychologist

Geologist

Q.No: 23 Choose the word that means "to settle a dispute through mutual agreement":

Confrontation

Oppose

Arbitration

Accusation

Not Answered

Q.No: 24 Fill in the blank:
He is ________ oldest person in our family.

the

an

one

a

Not Answered

Q.No: 25 What does the idiom "back to the drawing board" mean?

Start a new project

Continue with the same plan

Planning something again because the previous attempt failed

Return to the art studio

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 An airplane flies at a speed of 800
km/h. What distance will the
airplane cover in 1 hour and 30
minutes?

1200 km 1200 km

2000 km 2000 km

1000 km 1000 km

2400 km 2400 km

Q.No: 52 A farmer sold pulses he had grown at a profit of
25%. The cost price was Rs.9,000. How much is the
total amount he got?

Rs.11,250 Rs.11,250

Rs.11,380 Rs.11,380

Rs.12,220 Rs.12,220

Rs.12,460 Rs.12,460

Q.No: 53 What is the probability of getting 3 while rolling a dice?

3 3

1 1

0 0

1/6 1/6

Q.No: 54 What is the Highest Common Factor (HCF) of 30 and 45?

15 15

45 45

5 5

10 10

Q.No: 55 A woman saves 20% of her monthly
income. If she saves Rs.5,800 per
month, what is her monthly income?

Rs.30,000 Rs.30,000

Rs.29,500 Rs.29,500

Rs.29,000 Rs.29,000

Rs.28,500 Rs.28,500

Q.No: 56 The average weight of a group of eight
people is 65 kg. If one person with a
weight of 80 kg is replaced by another
person with a weight of 64 kg, what is
the new average weight?

64 kg 64 kg

72 kg 72 kg

75 kg 75 kg

63 kg 63 kg

Q.No: 57 If a car travels at the speed of 90
kilometers per hour, how many hours will
it take to cover 225 kilometers?

3 Hours 3 

1.5 Hours 1.5 

2.5 Hours 2.5 

0.4 Hours 0.4 

Q.No: 58 If the simple interest is Rs.450, the
principal is Rs.9000, and the time is 5
years, what is the rate of interest?

Q.No: 59 If the cost price of an article is Rs.90 and the
selling price is Rs.110, what is the profit
percentage?(Approximate)

Q.No: 60
If you randomly select a letter from the word
"INDIA," what is the probability that it is 'M'?

0 0

1/8 1/8

2/3 2/3

1 1

Q.No: 61 What percent of 90 is 55?(Approximate)

Not Answered

Q.No: 62 The mean of the ages of Shyam and his
friend is 27 years. After 18 years, the
Shyam will be twice as old as his friend.
What is their present ages?

45 and 15

40 and 10

42 and 12

12 and 45

Not Answered
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Q.No: 63 What is the LCM of 9, 10 and 15?

120 120

90 90

45 45

60 60

Q.No: 64 The ratio of 1 hour to 300 seconds is _____ .

Q.No: 65 Simplify:

Q.No: 66 Simplify:

Q.No: 67 A ratio equivalent to 4:8 is _______ .

Q.No: 68 Five years ago, Sister was twice as old as
Brother. Today, Sister is 35 years old. What
is Brother's age today?

20 years

25 years

15 years

10 years

Q.No: 69 Simplify:

Q.No: 70 If the Simple Interest for 3 years is
Rs.1500 at 5% rate of interest. Find the
compound interest for the same time :

Not Answered

Q.No: 71 If 12 workers can paint a house in 8 days, how many
days will it take for 8 workers to paint the same
house?

18 days

64 days

12 days

36 days

Q.No: 72 P can complete a work in 12 days
working 8 hours a day. Q can complete
the same work in 8 days working 10
hours a day. If both P and Q work
together, working 8 hours a day, in how
many days can they complete the work?

6*(5/11) days

8 days

5*(5/11) days

5*(6/11) days

Not Answered

Q.No: 73 A real estate agent sells two sites
for Rs.8,000 each. On one he gains
10% and on the other he loses 20%.
What is his loss or gain percent?

4% Loss

5% Loss

4% Profit

5% Profit

Q.No: 74 Simplify:

6.5 6.5

0 0

-5 -5

7.5 7.5

Q.No: 75
The average of six numbers is 120. If each number
is divided by 4, what is the new average?

Section - IV (General Knowledge)

Q.No: 76 Under the Inland Emigration Act of 1859,

Plantation workers could work whenever they felt
like

Plantation workers were given all benefits

Plantation workers could move freely

Plantation workers were not permitted to leave
without permission

Not Answered

Q.No: 77 In which state would you find the Bomdi La Pass?

Sikkim

Arunachal Pradesh

Nagaland

Mizoram

Q.No: 78 What is the Capital of China?

Lefkosia

Amman

Beijing

Jerusalem

Q.No: 79 The independence of Judiciary in Indian constitution
is taken from :_____________ ______

USA

Russia

Ireland

Britain

Q.No: 80 During
the
earlier
part of
the 20th
Century,
the
growing
demand
for
energy
was
largely
met by
_____.

Wind energy

Fossil fuels

Hydroelectric
power

Solar energy

Q.No: 81 Shishu, Kishore and Tarun are
"products" under which
development-oriented Scheme
of the Government?

Pradhan Mantri Jandhan Yojana

Pradhan Mantri Rojgar Yojana

Pradhan Mantri Aavas Yojana

Pradhan Mantri Mudra Yojana

Q.No: 82 The Tenzing Norgay National
Adventure Award is the highest
national recognition for outstanding
achievements in the field of
adventure on land, sea and air. Each
awardee gets a Certificate and a cash
award of Rupees
________________.

10 Lakhs

12 lakhs

15 lakhs

3 lakhs

Not Answered

Q.No: 83 Who is known as the "Grand Old Man of India"?

Dadabhai Naoroji

Amit Gavesh

Dadabhai Saoroji

Dinyar Patel

Q.No: 84
Which layer of the earth's atmosphere is
also called the "Changing Sphere"?

Troposphere

Mesosphere

Thermosphere

Exosphere

Q.No: 85 Acid rain is caused when compounds
like ______________and
________________ are released
into the air.

sulfur dioxide, nitrogen oxides

hydrogen oxides, nitrogen oxides

sulfur dioxide, hydrogen oxides

nitrogen oxides, water vapour

Q.No: 86 RAMP scheme is implemented by which
Union Ministry?

Finance

Corporate affairs

Education

MSME MSME

Not Answered

Q.No: 87 Name an environmental movement that
was started due to building of multi-
purpose projects and large dams.

Jan Lokpal Bill

Chipko movement

Jungle Bachao Andolan

Narmada Bachao Andolan

Q.No: 88 Uptake of Nitrogen by the Hibiscus plant is in the form
of:

Inorganic nitrates or nitrites

Nitrous oxide through gaseous exchange from stomata of the
plant

Nitric oxide through gaseous exchange from stomata of the
plant

Nitrous oxide through roots of the plant

Not Answered

Q.No: 89
For the first time in football history, Which
country initiated 'white card' in a match?

Brazil

Portugal

Egypt

USA

Not Answered

Q.No: 90 Which of the following countries re-elected to
International Maritime Organisation Council for
the 2024–25 biennium?

India

Brazil

China

USA

Q.No: 91 The Indian National Union conference was
held in Pune on ______.

August 1885

June 1885

December 1885

November 1885

Not Answered

Q.No: 92 The
statement of
Newton's
second law
states:

The change in the
magnitude of
momentum is
inversely proportional
to the applied force
that produces the
change.

The change in the
momentum of a body
is inversely
proportional to the
applied force that
produces the change
and takes place in the
direction of the acting
force.

The rate of change in
the momentum is
directly proportional to
the applied force that
produces the change
and takes place in the
direction of the action
of force.

The change in the
magnitude of
momentum is directly
proportional to the
applied force that
produces the change.

Not Answered

Q.No: 93 Which of the following is NOT a school of Hindu
Philosophy?

Samkhya

Lokayata

Yoga

Vedanta

Q.No: 94 What is the full form of “HDI”?

Human Development Indicator

Human Development Index

Human Deployment Index

Human Development of India

Q.No: 95 The World Ozone Day is observed on which day?

December 8

June 20

September 16

March 27

Not Answered

Q.No: 96 Who is the current Vice-Chairperson of NITI Aayog?
(As of December 2023)

Prof. Ramesh Chand

Dr. VK Paul

Shri Suman Bery

Dr. VK Saraswat

Q.No: 97 The Office of the Controller
General of Patents, Designs
& Trade Marks (CGPDTM) is
located at ____.

New Delhi

Mumbai

Bangalore

Chennai

Not Answered

Q.No: 98 Operation Flood is related to the production of _____.

Milk

Oil seeds

Food grains

Water

Q.No: 99
Who has received the most number of the Laureus
World Sportsman of the Year awards?

Christiano Ronaldo

Lionel Messi

Lewis Hamilton

Roger Federer

Not Answered

Q.No: 100 Dr. Abdul Kalam Island is located in which state?

West Bengal

Tamil Nadu

Andhra Pradesh

Odisha

Section - V (Computer Knowledge)

Q.No: 101 Linux belongs to which operating system?

Open Source

Microsoft

Mac

Windows

Q.No: 102 "Ctrl + PageUp" is used to :

Moves the cursor one Page Up

Moves the cursor one Paragraph Up

Moves the cursor one Screen Up

Moves the cursor one Line Up

Q.No: 103 Which of the following cables can transmit data at high
speeds?

Twisted pair cable

Co-axial cable

Flat cable

Optic fiber cable

Q.No: 104
______ is the exchange of computer
stored messages by telecommunication.

Download

Exchange

Upload

Email

Not Answered

Q.No: 105 The first network that planted the seeds of internet
was:

ARPANET ARPANET

FTP FTP

Vnet Vnet

NSFnet NSFnet

Not Answered

Q.No: 106 ________ is the list of instructions used by a
computer.

Output

Input

Program

Process

Q.No: 107 What is one endpoint of a two way
communication link between two programs
running on the network?

Monitor

Speaker

Projector

Socket

Not Answered

Q.No: 108
A person who uses his or her expertise to gain access
to other people computers to get information illegally
or do damage is a _______.

Spammer

Cracker

Programmer

Hacker

Q.No: 109 What is the full form of LED in projector?

Q.No: 110 Which of the following represents the fastest data
transmission speed?

Gbps Gbps

Kbps Kbps

Bps Bps

Mbps Mbps

Q.No: 111 Choose the basic colors in a pixel:

Red, grey and black

Red, green and black

Red, grey and blue

Red, green and blue

Not Answered

Q.No: 112 You can _________ an email if you want to
remember it is important, and this also puts
the email into a special folder for easy
access.

Draft

Star

Label

Reply

Q.No: 113 What is the shortcut key to "Center the text" in MS
word?

Ctrl+J Ctrl+J

Ctrl+B Ctrl+B

Ctrl+E Ctrl+E

Ctrl+U Ctrl+U

Q.No: 114 What is the mean of the Booting in the operating system?

Install the program

To scan

To turn off

Restarting computer

Q.No: 115 The ground station in VSAT communication is called

HTTP  (HTTP)

IP address

Hub

Multiplexer

Not Answered

Q.No: 116 _________ is a type of
copper cable widely used for
networking purposes.

Fibre Optic Cable

Unshielded Twisted Pair Cable

Co-axial Cable

Transmission Cable

Not Answered

Q.No: 117 In how many views, you can create a table in
Access?

2 2

6 6

8 8

4 4

Not Answered

Q.No: 118 Computers on the internet owned and
operated by education institution form part of
the

com domain

sin domain

edu domain

mil domain

Q.No: 119 In PowerPoint, the Header and Footer
buttons can be found on the Insert
tab in which group?

Object group

Tables group

Insert group

Text group

Q.No: 120



Q.No: 120 They are malicious hackers whose primary goal is
to commit cybercrimes to make money. Who are
they in this context?

Blue Hat Hackers

Black Hat Hackers

White Hat Hackers

Indigo Hat Hackers

Not Answered

Q.No: 121 Which company created Windows?

Apple

Google

IBM

Microsoft

Q.No: 122 The shortcut key for subscript:

Shift + = Shift + =

Shift + * Shift + *

Ctrl + = Ctrl + =

Ctrl + * Ctrl + *

Not Answered

Q.No: 123 Which virus spreads in application software?

Macro virus

Boot virus

Antivirus

File virus

Q.No: 124 To increase the line spacing in MS Word,
use the _______ shortcut keys.

Q.No: 125 Which feature helps you to inserts the
contents of the Clipboard as text without any
formatting?

Format Painter

Styles

Page Setup

Paste Special

Section - VI (General Science)

Q.No: 126 In which type of situation is the body likely to
release adrenaline?

In response to stress or danger

During digestion

During a state of relaxation

During sleep

Not Answered

Q.No: 127 Which one of the following shows the correct
relationship in terms of reactivity?

Not Answered

Q.No: 128
What is the general outcome when an acid reacts
with a metal?

Salt + Carbon dioxide

Salt + Hydrogen gas

Only Salt

Salt + Water

Not Answered

Q.No: 129 Which kingdom includes organisms that lack true
nuclei?

Protista

Plantae

Fungi

Monera

Not Answered

Q.No: 130 What is the term used to describe the
phenomenon where genetic variations
become common in a population
without providing a survival advantage,
often due to chance events in small
populations.

Accidental survival

Natural selection

Genetic drift

Genetic mutation

Q.No: 131
An element reacts with oxygen to give a
compound with a high melting point. This
compound is also soluble in water. The
element is likely to be

Calcium

Carbon

Silicon

Iron

Not Answered

Q.No: 132 How are greater temperatures achieved in
some solar cookers?

By using mirrors that absorb more sunlight that fall on
the cookers that create more heat

By using glass plates

By using mirrors that reflect more sunlight that fall on
the cookers that create more heat

The mirrors diffuse light in all direction

Q.No: 133 An electric motor takes 5 A from a
220 V line. Determine the power of
the motor and the energy consumed
in 2 h.

Not Answered

Q.No: 134 State the pH range of a weak acid solution, such as
lime juice.

The pH range of grape juice is 5-15

The pH range of grape juice is 9-12

The pH range of grape juice is 2-5

The pH range of grape juice is 5-10

Not Answered

Q.No: 135 A normal blood pressure level for adults is :

less than 150/80 mmHg 150/80 mmHg 

less than 120/150 mmHg 120/150 mmHg 

less than 120/80 mmHg 120/80 mmHg 

less than 150/120 mmHg 150/120 mmHg 

Q.No: 136 __________ rule states that the direction of force
is perpendicular to the direction of magnetic field
and current

Fleming's right hand rule

Faraday's rule

Fleming's left hand rule

Amphere's rule

Not Answered

Q.No: 137 Which of the following is a non-renewable source of
energy ?

Wind

Biomass

Sun

Crude Oil

Q.No: 138 Chemical formula for Ozone is _________

Not Answered

Q.No: 139 Which of the following is abiotic component?

Butterfly

Amoeba

Stone

Plant

Q.No: 140 How does the angle of dispersion change with the
wavelength of light ?

It decreases with increasing wavelength

It depends on the material of the prism

It remains constant

It increases with increasing wavelength

Not Answered

Q.No: 141 Ferns are examples of:

Fungi

Pteridophytes

Bryophyte

Phaeophyceae

Not Answered

Q.No: 142 What causes the uterine muscles to
contract rhythmically in preparation for
childbirth?

Hormonal imbalance

Maturation of the placenta

Release of oxytocin hormone

Fetal movements

Not Answered

Q.No: 143 How many chromosomes are typically found in a
human somatic cell ?

44 autosomes and 1 sex chromosomes

40 autosomes and 2 sex chromosomes

42 autosomes and 2 sex chromosomes

44 autosomes and 2 sex chromosomes

Q.No: 144 What type of heart structure does a Bat have?

Four-chamber heart

Two-chamber heart

Three -chamber heart

Five-chamber heart

Not Answered

Q.No: 145 ______________ is most malleable metal.

Potassium

Calcium

Gold

Sodium

Not Answered

Q.No: 146 What is "phase transition"?

Change of temperature from high to low

Change of pressure on the earth's atmosphere

Change of weather causing changes in living beings

Change of matter from one state to another due to
temperature change

Not Answered

Q.No: 147
The major internal energy reserve used by a
pine tree consists largely of ________

Proteins

Fats

Water

Starch

Not Answered

Q.No: 148 Matter around us can exist in three different
states namely, solid, liquid and gas. Correct
order of their compressibility is:

Liquid < Gas < Solid

Solid < Liquid < Gas

Gas < Liquid < Solid

Solid < Gas < Liquid

Q.No: 149 In a circuit
series,
what
happens to
the
current
flow, if one
component
breaks ?

Current remains the
same

Current decreases in
remaining
components

A break in one
component interrupts
the entire flow

Current increases

Q.No: 150 Which of the following describes a nutritional
interaction where one organism
benefits while the other is harmed ?

Parasitism

Amensalism

Commensalism

Mutualism


